Name Date

[ Area of Sectors of A Circle - Step-by-Step Lesson ]

The radius of circle is 8 miles. What is the area of a sector bounded by a 90°
arc?

90°

r= 8 mi

Explanation:

Step 1) The formula for the area of a sector is

K=21.4
360

Where K is the area of the sector, A is the area of the circle, and m is the
measure in degrees of the arc bounding the sector.

Step 2) First, find the area of the circle.
A= Nr?

A= N(8)* Plugin r=8

A= 641 Square

The area of circle is 641 square miles.

Step 3) Now, find the area of the sector.
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K= A2
-~ 77360
K = 64l1x —  Plug in A= 641 and m= 90
K = 6411 X % Multiply and simplify
K = 161

The area of sector is 16[1 square miles.
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